Chapter — 1
Knowing our Numbers

Worksheet — 3

. Which is lesser: 6547869 or 64578967

I. 6547869 ii. 6457896

. What is the sum of place value of 6 and 9 in the number: 8765943327
a. 6090000

b. 619000

c. 6191000

d. 5940000

. Round off 17890 to nearest 10’s, 100’s and 1000’s places.

a. 17000

b. 18000

c. 16000

d. 14000

. Estimate the sum 823 + 411 to the nearest hundred?

a. 1000

b. 1100

c. 1200

d. 1300

. Estimate the difference of (863 — 573) to the nearest hundred’s place.

a. 800

b. 500

c. 300

d. 200

. Estimate product of 44 and 527

a. 2000

b. 2100

c. 2200

d. 2500

. Estimate quotient of 895 and 45?

a. Quotient = 19, Remainder = 40

b. Quotient = 11, Remainder = 15

c. Quotient = 16, Remainder = 20




d. Quotient = 18, Remainder = 0
8. Write the smallest 5-digit number using 1 and 6?

a. 11116

b. 11161

c. 11611

d. 16111

9. Match the column:
Column A Column B

a. Smallest six digit number I. 9,999
b. Largest four digit number ii. 100000
c. 1 billion — 1 million ii. 10 crores
d. (1 million) x 100 iv. 99 crores 90 lakhs

10.State true or false in the following statements:
a. Smallest five-digit number made using digits 1, 5 and 6 with repetition is
11156.
b. Largest seven-digit number using digits 6, 1, 2 and 7 with repetition is
7777621,
Place value of 8 in the number 1875643 is 8000.
Sum of face value and place value of 5 in the number 51120 is 55000.
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11. Find the difference and sum of place value of 9 in the numbers 9001152 and
915627

12. Round off 174170 to nearest 10s, 100s and 1000s place and find the
difference between it and 2000?

13. Estimate the sum of: 330 + 440 + 550 to the nearest hundred and find the
product of the result with 100?

14. Estimate the difference of: 1100 — 230 — 120 to the nearest hundred’s place
and divide the result by 10?

15. Estimate the product of: 26, 38 and 57?

16. Estimate the quotient of 1025+35 and find the difference between the
quotient and the remainder if any?

17. Write the smallest and biggest 8-digit number using 1, 9, 2 and 5 with
repetition?

18. Find the smallest pair of numbers with quotient 22 and remainder 10?




19. If Rahul uses 1 litre 700 ml of water for his garden every day, then how
much water would he need for 7 days?

20. If a long road of 4200 m is divided in to 7 equal parts, then calculate the
length of each part?




